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Note: Answer all questions
Q1/ Chooge the correct answer for ten only:
1. The efficiency of full wave rectifier circuit jgu....___
a) 40.5% b) 48.4v; ©)81%
2. Electrons that are in orbits farther from the nucleus have....._ and arg-----_.. bound to the atom,
a) Higher energy , less tightly b} Lower energy, less tightly C) Lower energy, more tightly
3. The silicon and germanjum atom have === valence electrons.
a) Two b) Three ¢) Four
4. The movement of electrons in valence band of semi-conductive Material is called ———
a) Electron current b) Hole Current c) Electron-hole pair
5. To Increase the number of conduction-bang electrons ip intrinsic silicon, ~e-m..._ are added.
a) Trivalent irnpurity atoms b) Pentavalen; impurity atoms  ¢) Donoy atom
6. Most good insulatorg are ~~--——...

a) Single-element Malerials  b) Compounds Materials ) Single-element &compound materials
7. The barrjer potential of 4 P junction diode depends on-....._

2) The type of semi-conductive material  b) The temperatuyre. ¢)a&b

8. PIV for center -tapped transformer )] wave rectifier jg ...
Vv, b) V,-v; €) 2V, vy

9. A semiconductor material that hag been Subjected to the doping Process is calleq --__. material,
a) An intrinsic b) An extrinsic €) accepter atom

10. Germaniym diodes have -...._. PV and..... lemperatyre ranges than silicon diodes,

a) Lower, wider b) higher , Wider cMower Narrowest
1. V, of the below circuit(with Si diodeg ) 1s:
ajy 4.3y

_ (25Marks)
e | (glol/2NF
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Q3/ A- Determine 1, V3, V2, and V, for the Figure below: (13Marks)

Vi 4 S
) Ay
£ =10y O—=g—— YW\ —pl —e Vo
1 R1=4.6K —
R2=2.2K02 IVZ
E;=-5V

B/For the below circuit:

1. Sketch the output vo.
2. Determine the DC level of the output voltage (Vac).

3. Calculate PIV.
4. Calculate and Sketch the network current (I). (12Marks)

Q4/A-Explain the resistance levels of diode.
B- Determine the diode current at 20°C for a silicon diode with [s=

of 0.8 V.
Note: use K=11600/2

50 nA an applied forward bias

(20Marks)

x
b
o

Good luck...
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Ministry Of High Education And Scientific Class: I*
Research

Alfurat Al-Awsat Technical University

Technical Engineering College / Najaf’

Depart. / The Technical Communication Daie : 1L oV /2017
Engineering

Subject: Electrical Measurements

Time of Exam: '2' Hours

First Course Examination 2016 - 2017

NOTE: Attempt Four Questions Only

Q1: (A) Derive torque equation for PMMC instruments. [Marks 10 |
(B) Explain types of measurements errors. [Marks 15 |
Q2: The following values were obtuined from the measurements for a resistor in ohms.

220.2, 119.5,221.1, 119.9, 220.0. 220.5, 119.8, 220.1, 220.4, and 119.8. Calculaie

«. The arithmetic mean. [Marks 05 |
h. The average deviation. [Marks 10 ]
¢. The standard deviation. [Marks 10 |

03: 4 recently calibrated digital voltmeter is used to read a voltage and it consistently
vields 75 volts. Another meter in the lab is also used five times to measure the
same voltage and following readings are obtained: 77, 75, 74, 76, 77. For the
second meter, Find the absolute accuracy, relative accuracy and percentage
accuracy. [Marks 25 |

Q4: Design an Ayrton shunt (indirect method) to provide an ammeter with current
ranges 1A, 54 and 104. A basic meter with an internal resistance
of (60 L)) and half scale deflection current of (60 uA) is to be used.  [Marks 25 |

Q35: A basic D'Arsonval meter with an internal resistance Rm = 100 Q and a full scale
current of ImA, is to be converted into a d.c. voltmeter with ranges of 0-10 V, 0-

50V, 0-100V_ Find the values of the multiplier resistances [Marks 25 |

Good Lock

xaminer Department Head
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Q1: Obtain the equivalent resistance of the circuits in Fig.1. (30 Marks)
3002
MW
——
V _ -
[ 30Q 30Q
_ 3042 ,
A A, Fig.1
2: Find (I) in the circuit of Fig.2 using source transformation. {30 Marks)
- 5V 1Q
| —
]
6£2 5 3¢ 762 3A 40
Fig.2

3
_A- : An electrical resistive load takes a current of 12A from a 220V supply.

Calculate the cost of electricity if the equipment is used for 40 hours and

the cost of 1kWh of enérgy is 100 dinars. (10 marks)

B- : A coil of Copper wire has a cross-sectional area of 0.8mm? and a length of
1600m. Find the resistance of the coil and the power consumed when the

coil is connected across 100V DC supply. (Take the resistivity of copper as

0.02x10°° ©.m). (10 marks)
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Q4: {4 ........ (element), (branch), (node) Js ya3y Sasayr by b A g ) agan p) iy 1 Adiada)

A- Determine the number of elements, branches, nodes and essential nodes ir
the circuits shown below. (10 marks)
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Q1. A) convert the following 18M
1. (195.36)10 = (?) ¢ 2. (10111.01101),=(?7)s 3. (567.423)5=( ? J1e

4. (CADE.54) 1= (?)10 5. (258.375)10=(?): 6. (125.256)10 = (Mo

Q1.B) convert the following to BCD IM
1.(5912.125),, 2. (34516)g

01.C) convert the following to gray code 6M
1. (512.075), 2.(1110101110), 3(DCF)

- L ]
Q2.4) Add the following BCD number 12M
1. (10011000+ 16010111) 2. (0106101100001 + 011100001000)

Q2.B) convert each pair of decimal numbers to BCD, and add as indicated. (15M)
1. (295 + 157, 2.(65+58),  3.(113+101)y,

L ]
Q3. simplify the following (20M)

1. (ABC)( EFG) + (HIJ)(KLM)

2. (A+B)(C+D)E+F)(G+H)
3. ABC[AB+C(BC+AC)]

4. ABCD + AB !CD! +!AB! CD

04.A4) Convert the following to SOP(sum of product ) (16M)
1. A+B[AC + (B +C)D]
2. (A+C)(AB+AQ)
Q4.B) simplify the following by using K-map ( 9M)
1. F=5(0,1,4,6,7)
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answer only four questions//scientific calculator is not allowed

oA - Show that [COSQ —sin 9]_[ ! —tan 9/2J l 1 tan 072771
Uilod - She sin @ cos tan 8/2 1 —tan@/2 1
(15marks)

Q1:B:-Find the line through the point Pl with the angle of inclination € =60°

(10marks)
Q2.4 prove that : (10 marks)
. 4 3  sin2x + cos2x +1
1)COS*x — sin" x =C0S%x — sin? x 2) = = cotx
Sin2x —cos2x +1
Y2:8:- -Iind the domain and range of each function: {15 marks)
Iy = ¢sex 2) 12t
O3 Evaluare the following expression: (T0marks)
1) COS™H{—sinn/6) 2i(sinh x + cosh x)*
1 3 2
O3:B.-prove that :A* — 442 — 34 + 111 = 0where 4= 7 0 -1 (15marks)
1 2 3

Od:A-Show thar 2C0S? A—COS?B =0 jftan?A — 2 tan? B = 1 (10 marks)

Q4:B:- A and B are the points (3,4) and (7.1) respectively . Use Pythagoras theorem (o
prove that OA is perpendicular to AB . Caleulate the slopes of OA4 and AB , and find their
product : : (15 marks)
Q3:A4:-Solve the following equation for values of 0 from 18010 180 inclusive -
(12 marks)

1) COS*8 +sinf+1=0 2ecotB=2cosh
5.B:-1)Express the given difference sin61° — sin59°as g product (7 marks}

2)Express the cos5x sin 3x as sum (6 marks)

ureyr.
Hawraa F Al- H.
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Department of Technical Communications
Engineering

Class: First

Subject: Computer Applications

Time: 2 hours

Date: 31/1/2017

Ministry of Higher Education & Scientific Research
Foundation of Technical Education

Engineering Technical College-Najaf

Final examinations (First Semester) — 2016/2017

NOTEs: Answer All Questions
All Questions have Equal marks

Q1\ Explain the main parts of the computer hardware.

Q3\ A- What are the MSU? Draw block diagram for the hard disk contains.

B-What are the features of the windows system with giving the task and path of the
dxdiag & Window explorer.

Q4/ A- What is MS.DOS? Give different types from their versions and types of DOS
files.

B- What are the types of windows folder? How can create a new file & folder.

GOOD LUCK
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